
Answer on Question #72118, Physics / Mechanics | Relativity 

Question: 

An ice tube is kept on an inclined plane of angle 30degree . Coefficient of kinetic friction between 

block and inclined plane is 1 upon under root 3 . What is the acceleration of block? 

 

Solution: 

 

 

 

 

 

 

 

According to 2nd Newton’s law: 𝑚𝑎⃗ = 𝑚𝑔⃗ + 𝐹𝑓𝑟𝑖𝑐𝑡𝑖𝑜𝑛
⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗ + 𝑁⃗⃗⃗ 

In projections: 

 𝑚𝑎 = 𝑚𝑔 ∗ sin(30°) − 𝐹𝑓𝑟𝑖𝑐𝑡𝑖𝑜𝑛 

0 = 𝑁 − 𝑚𝑔𝑐𝑜𝑠(30°)  

 

Also we use that: 𝐹𝑓𝑟𝑖𝑐𝑡𝑖𝑜𝑛 = 𝜇𝑁 (𝜇 =
1

√3
)  

So, 𝑎 = 𝑔𝑠𝑖𝑛(30°) − 𝜇𝑔𝑐𝑜𝑠(30°) = 9.8 (0.5 −
√3

2

1

√3
) = 0 

 

So, the acceleration of the ice tube is zero 

 

Answer: 0 
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